4. Multiply using the standard algorithm.

a) 623x22= 3; 700 b)  614x401= 2\4@.,'2\4
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5. The teacher bought 21 pita sandwiches for $2.60 each and 34 bags of carrots for $1.08 each.
How much did the teacher spend in all?

a) How many pita sandwiches? Z\ d) How many bags of carrots? 3!"(
deachcost” 2100 - B O

b) How much did each cost? : ¢) How much did each bag cost? l . 6
¢) How much did the sandwiches cost all together? f) How much did the carrots cost all
together?
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g) How much did the teacher spend on the sandwiches and the carrots?



